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Notc: l. Answer any FIVE full questionffihoosing ONE fu[ qaeskion{from efich module.
2. Assume missing data, if any, . *wll,
3. use of steam itt"rsp;ffi+ffi, ffi#+

*T'T**.dure-1 - @
=o Sfl

a. Explain in brief three ffi6ry processes of solar eqfuy conversion into other forms ofenergy. ffi-'".e- 
- 

ffi (r0Marks)
b. Write a note on global wafrning and ozone depletion.*' (10 Marks)

d",

}+;.*'' ORw#b
a. State and expl'1ai$-:zeioth law, first law and#Webnd law oftherrnodynanries. (l0Marks)
b. Find the spsajfip volume and enthalpy of^l lt$ of steam at 0.8 MPa wh,en:

(i) T\eryeeffi is 10% wet. \ :"

(ii)"#q siBbm is heated to a tem-p_ffiitire of 300'C. .-+s
AssurfrB@p, value as2.25 kJ/kg. cio *#.S", (10 Marks)

d %";d 1fl u ...
M]%{ ',\sd*": Module-2 'ryry *ry3 a. What are the advantages;ffidlsadvantages of wfui[ibe boiler over ftSffitibe boiler?

,r "i.:as r S d' \'" tn.

4a.
b.

5a.
b.

(06 Marks)

(10 Marks)

Crankshaft spe.gd

Brake load:
Brake
Diesel oil ion:0.1 *3+'mi,
Specific gravity of diesel=.0;il,8
Calorific value of diese['+,,-#3900 kykg
Find: (i) BP (ii) IP liii):fP (iv) q*""r, (v) rin.r

OR
a. Give the list o{'fffigerants with their applications. (05 Marks)
b. Define the folldivihg:

(i) Refriqerafing effect (ii) Ton ofrefrigeration (iii) COP
(iv) Re_la+i&COP (v) Ice making capacity (05 Marks)

c. Explairi+,rvith neat sketch the working principle of vapour absorption refrigeration. (lb Marks)*' 1of2
$:n

:
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c. Derive an expression for the length of belt i4 cmo;Wd belt drive. 'L (10 Marks)- ffiM & ry."*&
.,'. 1'..,

"''WL :ry fl -.''-YrSfl , \"m. qN#*'

g a. Classi& metal joining processes. EpdaifrHitrerent types of flameS uiea in oxy-acetylene

welding. yq, W .,.*a$ds lto Marks)wel0mg' ^ fl*. *fl. ,  eA u *^

A simpie gear train consists of ffigt#rs having 30, 40, 50, 60:ffih respectively' Determine

the speedand direction of ,qffiC gear if the frst geart'frihkes 600 rpm in clochwise

Module-4
7 a. What is composite material? State advantages and*ql*lir of composite materials.

(06 Marks)

b. Write short notes on: (i) Shape memory materiaffi ffi Optical fibre glass (04 Marks)

b. A simp,ie gear train consists 
"f 

q."*.gry&is having 30, 40, 50, 60:ffih respectively. Determi

direciion. * Er& .d (10 Marks)

b. Explain with a ne

(i) Plain Inrlqff (ii) Straddle millffieEv (iii) Gang milling (06 Marks)

dn
a. nefiqefpUh: List the industrial aglffi&ions of robot. .eqs (05 Marks)

b. Explffie components of CNCfu**i% block diagram. ;ffi'" (10 Marks)t . D.IIIOU|EV wmlruu -^-e-----& *W

c. Diiferentiate between open loop*arffi closed loop sys6ffi-- :*::, (0s Marks)

"& .-M% Sf ;eryell*ll\ M *@-/ fl:;\,

aov - ^
4 P@ -#=)

.m *F Module-S ,r^*\
g a. Howdo you specifr "hffii 

.ffi (64Marks)

b. Explain inittr a ne{ffitch taper turning by cogpoffind slide swiveling method. (10 Marks)

c. fxptain the fo[ffiMoperations on millingg&ine with zuitable sketches:

f0 a. Defiqe{bffi Listthe industrial ag@ions of robot. ffi' (O5Marks)
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